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I Semester B.Com. Examination, October/November 2012
(Semester Scheme)

(201 1-12 Batch & Onwards)
COMMERCE

Financial Accounting - I

Time : 3 Hours Max. Marks : 100

Instruction: Answers should befully either in Kannadaor in English.

SECTION _ A

Answerany Ssub questions from the following. Each sub question carries2 marks;

(8x!a!6)

1: a) State any two features of hire purchase system.

b) Why is minimum rent clause included in the royalty agreement ?

c) State in which ratio should the debentures received in purchase price to be

distributed among the partners.

d) How do you treat an asset of a firrn not taken over by the new tirm ?

e) What do you mean by down payrnent ?

f) What do you mean by Dead Rent ?

g) Can a seller seize the assets under instalment system ? Why ?

h) Why Revaluation account opened in the books of the amalgamating firms ?

i) State any two objectives of sale of a firm to a company.

j) Mention any two rights of hire vendor.

P.T.O.
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SECTION _ B

Answeranythree questions from the following. Each question carriesg marks.

(3x8=24)

2' A company takes over the following assets and liabilities from a partnership
firm.

Rs.

Land and Building 45,000

Plant and Machinery 20,000

Stock 20,000

Debtors 23,000

Bills Receivable 16,000

Current Liabilities 2g,g00

The value of goodwill is fixed at Rs. 2g,g00.

calculate purchase consideration which is payable in 10,000 Equity shares of
Rs. 10 each and the balance in cash.

3. calculate the cash price of an asset from the foilowing detairs :
Down payment , Rs. 4,500

llnstalment Rs.4,200

f l  Instalment Rs.3,900

ff l  Instalment Rs.3,600

lV Instalment Rs. 3,300
Rate of interesl1Oo/o p.a.

-2-
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4. Prepare Royalties Analytical Table and short workings account from the following
details :

a) Minimum Rent Rs. 20,000 p.a.

b) Royalty payable Rs. 5 per ton.

c) Short workings can be recovered during first 4 years of the lease only.

d) The production for the first 4 years were as follows :

2000-2,000 tons

2OO1- 3,000 tons

2AA2* 4,000 tons

2003 - 4,500 tons.

5. Fo}lowing is the Balance Sheet of M/s M and N who share profits and losses
equally.

B/s of M/s M and N as on 31/1 2t2t011

Liabilities Rs. Assets ' Rs.

Sundry Creditors 3,000 Cash 1 ,000

CapitalA/c's Stock in trade 2,000

M 3,000, , Su,ndry,Debtoqs: : 2,000

N 2,000 5,000 Furniture 1,000

Plant and,Mach.inery 2,000

9,000 g,000

Mand N decided to amalgamate with M/s O and P on the following terms.
Plant and machinery to be taken over at Rs. 1,600;

Stock at Rs. 1,800; Sundry debtors at Rs. 1,6B0; Furniture, Creditors at book
values.

Pass Journal entries to close the books of M/s M and N.

-3-
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6. Vijay purchased a Motor carfrom Mysore Motors on 1st January 2006 onInstafment system

The payment is to be made as foflows :

Rs' 40,000 0n defivery Rs. 76,000 at the end of the first year,Rs. 60,000 at theend of second year and Rs' 55,000 at the end of the third year. Interest at10o/o p'd' is included in these installments. vijay charged depreciation on themotor car at 20% p.a. on the diminishing Balance method
You are required to prepare InterestSuspense Account.

SECTION - C

Answerany four questions. Each question carries 15 marks . @x15_60)7 ' Ashoka company purchased a Truck on 1 . 1 .2a12under instarf ment system for acash price of Rs. 46,500, Rs. 1,500 is to be paid on signing the agreement, thebafance is payabfe in three annuaf instarments of Rs.15,oo0 each together with5% interest.

Depreciation is to be charged at 1oo/op.a on the reducing barance method.
Prepare the necessary redgeraccounts in the books of Ashoka company.

8' Mr' Gupta purchased a machine on 1.1.2o12under hire purchase system fromMr. pankaj. The cash price was Rs. 15,500. Thebe made as under. .. 

, , ,v. , e,,.rvu. I ne payment for the purchase is to

on signing of the agreement Rs. 3,000, first year end Rs. 5,000, second yearend Rs. 5,000 and third year end Rs. 5,000.
Make the necessary Journar entries in the books of Mr. Gupta chargingdepreciation at 10"/o ondiminishing Bafance method.
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g. Following are the balance sheets of M/s AB and M/s XY as on 31st of December

2011.

-5-

Liabilities A & B
(in Rs.)

Creditors 16,000

Reserves 10,000

Capitals

A

B

X

Y

40,000

10,000

X&Y Assets A&B X&Y

(in Rs.) (in Rs') (in Rs.)

23,000 Building 50,000

Machinery 20,000 30,000

Patents 10,000 5,000

Stock 25,000 20,000

Debtors 10,000 16,000

50,000 Investments 5,000

50.000 Cash 6,000 2,000

76,000 1,23,000 76,000 1,23,000

A and B shared profit and losses in the ratio of 3 : 2 and X and Y shared equally.

The firms decided to amalgamate on the following terms :

a) lnvestments of A and B were not to be taken over by the new firm A and B to

take them in their profit sharing ratio'

b) Goodwill of A and B was Rs, 20,000 and that of X and Y Rs. 40,000'

c) patents of A and B were Rs. 15,000 and stock Rs. 30,000. A provision of B%

was to be created on debtors.

d) Machinery of X and Y to be written down to Rs. 25,000 stock of X and Y was

found overvalued by Rs. 2,000 and the book debts of Rs. 1,000 was bad and

had to be written off. Parents of X and Y were valued at Rs. 8,000.

You are required to:

i) Prepare ledger accounts in the books of A B and X Y (Old firms)

ii) Prepare amalgamated balance sheet of the new firm'
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10..,R Ltd. was formed to take over the assets and liabilities of A and B. The 'Balance

Sheet of A and B on 31 -12-2011, was as follows :

Liabilities (Rs.) Assets (Rs')

Trade Creditors 8,000 Cash in hand 2'000 '

Capital Cash at Bank 12'000

i r _  ,

A 80,000 Book debts 18'000

B 80,000 Stock 78'000

Furniture 10,000

Land and Buildings 48,000

1,68,000 1,68,000

The purchase consideration was agreed at Rs' 2,00,000 and was to be paid as

under:

a) 5,600 equity shares of Rs. 20 each fully paid'

b) Rs. 68,000 in 6% preference shares of Rs' 100 each issued at par'

c)  Rs.20,000 in cash.
t '

All the assets and liabilities were valued as per balance sheet except the book

debts which were subject to a bad debt provision of 5%.

The company raised further capital by issue of 15,000 equity shares oJ

Rs.2Oeach.  '
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The adjoining premises were purchased for Rs. 1,00,000 and additionalstock of

Rs. 1 ,40,000 was obtained from open market.

Record the above transaction in the books of R Ltd. through Journal Entries and

draft its Opening Balance Sheet.

11. Niscfial Mines Company took a lease from a landlord for a period of 10 years

ftun 1* January 2012 on a Royalty of Rs. 10 per ton of coal raised with a dead

rentot Rs. 40,000 and powerto recoup short workings during the first 4 years of

fease.

Year

2005

2006

2007

2008

2009

Prepare:

a) Dead Rent A/c

b) Royalties A/c

c) Short workings A/c and

d) Landlord A/c in the books of Nischal Mines Company.

Output (tons)

2,000

3,000

4,000

4,500

5,000
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1. a) sroarl $oea dnoat:d add: e-r{eoddd18exr.
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(8x2=16)

b) oorddd z-d1od$ dOdzmario$dpdriooa&dlcb' Ad ?

c) doeod de drrd) -e.r d$ddo_uooad msrerodd> erddlornd Eldneado-

dozsdndozJed: ?

d ) oa orro od d o Cn e a;d ob O-dod d oi odr u4 dddld ri drdraddo dO e dd1 o$E d

O e3 o3:O- aa$ Oden rbd) cjJ ?

e) dlodd dea aodded: ?

f) dodzmari aodded: ?

g) dod: dodc,cdobO-CI$o$cnd$ ulobdldddazudo{u*de ? ad ?

h ) i o o3o e rdrtosd i o*ld O- {l do djo e-rrand oJ:$odd obdl d: ad ?

i) mw6"od no{odldod&ri dDdrd)dd odd> w{eddddleea'

j) mGri .)$oJ)oadd add; d*dddd,lse&o.
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(3x8=24)

20,000

20,000

23,000

16,000

28,800

dJo.4,200

dro.3,900

dJo.3,600

d,o.3,300

, 
i,i

2. aocb &o$tud dod_ob dr dddod er& d$ 6arD?Dpddd:, t ocb mwo.rod io{ouod' - -  
a  

- - -  - - o  - - - - - o  - - - - -  -  
o  4  e

drtd>dooad.

dra.

qiotu abQ do^1d 45,000

o$odgedddeo

mB$

abodrtC)

tddeodd>oa

zroO aoaznodd.)
J O

I de dod>

ll de dod>

lll de dod:

lV de dod:

?Jadd Ee 10 asaard.

6eEr dPer, drD. 28,800 &da dadcnn{ .aDOeo aJe3odrdldodrbaouo:

dro. 10,000 ;odnd, de&dd dro. 1O dDsDLJeJob abd; zmsod:qdrid droddel0edel,
drosb d dodO ?"&d.

t/ qJ

dqldod adddeod erlob ddcb &Jeio$d1 dodrbaoc:o.

dlodd Oead dea dro.4,500
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4. dr dddod addrieod oasgdd dqdry! dractd wd{andoJr$odolnorr'

a) dO{marl aoard drD.20'000

b) oaagdd ds t"lQ{ do. s.00

c) dodd erud$- eru{dd rieedddd dode-r4 ddrddO-dDg

d) dodoa ddrdd eruoa$d.

2000 - 2000 u$dsb

2001 - 3000 e3dldqr)

2002-4000 $d]"lgt)

2003 - 4500 rr$i"l$b.

d*Ed {dneado- *rd d*{

31-1 2-2011 dodr€r oeg'ad.

dl doasdoqd M d:* N erdd erxr 6d"?tJoo drd

tgane,troo
o

;oOdd>

uodaadand

M - 3,000

N - 2,000

eJfu D3do?irooo dt"3sr

d.o.

3,000

5,000

ulti+tl

dlid)

mR$

naerrodd>

.ledoedddea

odrodgedddeo

dJa.

1,000

2,000

2,000

1,000

2,000

8,0008,000
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dro.40,000

dro.76,000

dra.60,000

do.55,000

M tb{ N, O ab* P dodobO-dooSoexdrfodoe;: €r dddoa td,odCod

Eednr&xrd&.

o$odgedddrddddlda. 1,600 Ed, d)* me$ dra. 1,800 Ed

me.rrodd; do. 1 ,680 { "tedoedddea d:{;,-oOdddldrdcbOJ$dod drldrdndoul

Od,.or:denndl.

M $* N d aaeprDof do{oldleroEd:rhpder: doeao eD$eJoidludor:o.

6. Ooood 1.1.2006 dod>.)ago1:" t-od: doeund: oaddldod: $OeA dqlo$O-*F&

doee,,nd dodoor:od coeaxd:. €r dddodod aad9 dndz.Jeaond.

dcDu) #.6, ibaaoaarlr t

I de ddrd dodolrO-

ll de ddrd drodcrO

lll de ddrd drodo$O

aaard uG. de 10% do$ddO-deod.

ddde aoard de 20 ddg(a*bdo deJod> dde u6odd0-).

a6odf dr$ddOouq ero%d rtdodrqdaJn ol.
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dddod oJndloaddo oae))* ddjderi *€ol de ddJ 15 eroddd:.
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.

(4x15=60)

T. ooaod 1 .1.2012 dod: erdned dodOo::l z"ocb g!*Qdo$ $oeo dqlobo;aDoeaxd> .

, i:..

g6"d ddcb aJeJ do. 46,500 
.:

doadl *gd*db aad:aorl do. 1 ,500 erupd deodq d*& dod:rldO- aaard dro. 15,000

de 5% dod uB deol.

ddde aoard de. 10 e$do dejo$ uqEddO-

erdo edddd d)dddO-erdd, arc d anddddl doln oxr.

8. aoad 1.1.2012 dod: dcaqdd& uod5 oJr€dq?DPri dosboado$ dqeo$O-

dodarddood $oea:.rd&. ddcb sJeJ 15,500 ddldradrd aOad €r Eddodod'ad.

doad: d9{ db aadomrl drD. 3,000

dode.rde ddrd drodri dra.5,OOO

addde ddrd drodrl dra.5,000

dmdde ddrd dodrl drd.5,000

ddde urcard de 10 esbdo t3eio$ uqadd d:eeJ rbqddd d{ddcf-u#r*d doewdddl

udouo.
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9. A ob*B, X ab&y of,u>o)ddc,{o$ uxr Ea-rzroo i[^131 .12.2011, doc$d* org qd.E3.b?,roooil$b A&B X&y s,lilsb

Rs.  Rs.  
-o-- -  A&B X&Y

Rs. Rs.
;.rrOdd: 16,000 2g,000 de^$dvb 

50,000
Cedsb 10, OO0 o$odgedddea 20, OO0 30,000
uodmd

A 
Psqd.l 10,000 s,gooFl 4o,ooo Des zs,ooo 2o,ooo

B 10,000 ar:Denodd) 10,000 16,000
X 

50,000 dJaaddsb 5,000
Y so,ooo ddcb 6,000 2,ooo

76,000 1,23,000
76,000 1,2g,wo

l:-1Xb?*:?3*3ffi *yd$dxnmao=?jl{,*qdoa:do$ugdd:

" ; SH5n*.mff*q *' il;:X,:Ti.S;, ;.: erqj ddc
2) A djJ* B 01> xborab do. 20,000 d:* X db* y
3) A ab* B o$ Doe* dro. 1s,oo0 abdJ dd$ dro.e O o$d] ddd ..r_ srleri drlO ods,.Je$.

x $$ y ot oJ:odgeiddeao, &je,orrdr do. 25,000 dgri erroda&d, dddo#j;::f:$;T,ffi :f ;f,USp':'l'ddd,^,Dodrndudood
l \  n  n - - - . r  r  - - -  

(

. r . \ u *?n r to5ngO_erddrda>ddddldobo,rr.
2) do;;o{o$O_docloedd 

"a 
** Bdre,Doo dqol>q udouo.

xOoaab d/0. 40,000

30,000, nosrodd abeej de g
4)

1) ABab*Xydodr id
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10. A $4 B aDwelrod do{o::d1$oeodw R uodand no{Od1 BdoQdennC'

A rb* B o$ erl 66"?troo dt^131 .12'2011 , docb 6* oeg qd'

66"u4)orl$b dJa. el:rd$ dtd'

drdoadd:iaOrl& 8,000 ddd) 2,000

uodFtd,and : uD5osdO-deo 12'000

A 80,000 rae':rodd: 18'000

B 80,000 m4$ 78'000

.le doedddeadsb 10,000

doar $d; dqdd*b 48,000

1,68,0001,68,000

drod*ado$ LjeJob dro. 2,00,000 udd:o€r oeg aodgietrnd.

1) do. 20 $)sD LJeJo3:5,600 nadnd, ded:deb

2) 100 dro. *)sD aJeic) 68,000 do' dfoe-rrd 6% dddJ udrd de&d+t>

3) 20,000 do. ddcb.

dodooJl me))6"of do{o$ ae+eJl d)* ?3d"sJDooobqdt)sD LJeJrl drl&dood:

:osrodorl de 5% dd*dd& mel eQdQt:eienfloxrd'

dodOob dro. 20 d))$ LJeJo$15,OOO mdnd, de&zfddluodaadrln ddari dnoot'g

dDad. uod deodo-dgddo-ecbd dqdddldo. 1,00,000 derl ** 6Eedq

1,40,000 do. rlgri $oeotud. R dodood: dl{ddo-udog:d doeao eoeDeso$d1$dl

qrl 6d5rz,rJoo dado$qdofr 0&.
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1 1 ' o&)" TiFd dodpolD 
"%d" 

dnoedood d$ ddrrrd ederr l -1 -zolzood nb€rr o$dlddo.I*' ds sqd*-dw wo;cdri aasdd dro. 10, deds-ari do. +0,000 abd)d'dd *{qdq boddo$e-r: nbgrr erdQo$ dode.p Ds* ddrrrdo_ erQoodad .D&Fd wo;Cd€r dddodo8d.

ddr Eusodd (rrdlrl$OJ

2005 2ooo

2006 3000

2W7 4000

2008 4500

2009 5o0o

0**f dsd dode d{ddde1

a) do{e,nariarrd

b) oarddand

c) dndd wd{and

d) qio dnOed mdo$d1dCIno&.


